SMART SHOPPER #420000 (EXPLODED VIEW
ORDERED 11/14/2006 —- PRESENT

210203
210204-SET

9610
4&;\\

9614 >~
9616

~N 4

7361.20 PO \
,4075 <7 p
I \ 10301
/ 9248
11004 ROCKER
9936

Lo

u
11004.24 oy

11005 KEY ¥ 9157.10 ~—

i 7
& <& 9937.21

10394.20 ’ 8534
784 T j 8969° 71170 11024
A4 ?
LT R 11302~ S\ J’T/
1l ™ % *11033
11312~g

10610

6816

K

1477
0447 @ 6463
3083 K
% o, 8722
4953 W/O BUMPER
7630 W BUMPER
10100 853 Z

@ s 7912.10
goas 58657
9054PQ
m/ 10947 011105

i.
[ |
3
A~ n\2822 m%m /
v 9121
269002

U Lelv V) L4
7773
10513 7438 \{
?/ 7441
10408

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway .+ Bridgeport, Ml 48722-9725
Phone: (800) 248-9131 . Fax: (800) 334-7274 « www.myamigo.com

=
%
%,

2, o
7% Lives Thyoug\"N\



Part #
1192
1477
1614
2237
2822
3083
3603
3622
4075

4953

5190
5865
5893
6227
6463
6505
6816
7281
7438
7441
7541
7630
7773
7849
7852.10
7912.10
8270
8300
8534
8675
8722
8944
8969
9054
9121
9133
9157.10
9161
9247
9248
9280
9610
9612
9614

SMART SHOPPER #420000 PARTS LIST — ORDERED 11/14/2006 — PRESENT

Description
Washer, Flat, .281 ID .625 OD .06

Screw, Hex Head, 5/16-18 X 1.75 Lg
Washer, Flat, .312 ID

Nut, Hex Head, 3/8-24

Screw, Hex Head, 1/4-20 X 1.75 Lg
Nut, Hex Serrated Flange, 1/4-20

Nut, Hex Nylon, 5/16-18

Nut, Hex Head, Nylon Insert, 1/4-20
Screw, Flat Head Cap, 1/4-20 X 2.0 Lg

Screw, Hex Head, 1/4-20 X 2.5 Lg (4 Screws

w/o Bumper)
Screw, Socket Head Cap, 1/4-28 X .75 Lg
Screw, Shoulder, #10-24 X 1.25 Lg

Washer, Fender, .281 ID 1.0 OD (For Bumper)

Nut, Nylon Insert, #10-24

Plug, Tube Round

Screw, Hex Head, 3/8-24 X 4.5 Lg
Basket, Shopper

Screw, Socket Head Cap, 1/4-20 X .88 Lg
Wire Asm, Circuit Breaker To Battery
Circuit Breaker, Auto Reset, 25 Amp
Wheel Asm, Stability, 1.6"

Screw, Hex Head, 1/4-20 X 4.5 Lg
Cap, Vinyl Insulated

Basket Asm (Complete)

Wire Asm, Charger To Controller
Wheel Asm, 10.5" Rear Urethane
Screw, Carriage, 1/4-20 X 2.25 Lg
Strap, Battery Retaining

End Plug, Square

Ground Wire Asm

Tube, Rear Bumper

Band, Controller And Charger Mounting
Cable, MPC Handle Control
Controller CS1108S Standard

Wire Asm, Battery To Controller
Seat, Shopper

Switch, Seat

Bumper, Wrap Around

Arm Asm, Right, Removeable

Arm Asm, Left, Removeable

Screw, Carriage, 1/4-20 X 1.5 Lg
Cover Asm, Cinnamon Red

Cover Asm, Emerald Green

Cover Asm, Scuba Blue

Qty/unit

6

N
S AN s

N N N

A A A W A A A A A A A A NN A0 RN A A NDN A AN A A NNNNDN A

Part #
9616
9855
9936

9937.21
9981.10

10050
10094
10100
10301

10394.20
10405
10408
10447
10509
10511

10512.10

10512.20
10513
10516
10518
10526
10554
10610

10799.20

10800.20
10947
10976
11004

11004.24
11005
11024
11025
11033
11042
11087
11105
11170
11236
11302
11312

210203
210204
269002

Description
Cover Asm, Sterling Silver

Arm Asm Set Flip-Up Adustable Standard
Handle, Upper

Column Asm Non-Tilt Handle

Wheel Asm, 6" Front

Bearing Set

Screw, Self Tapping, 8-32 X .38 Lg
Charger, Standard, 7 Amp

Bellows, Cover, Arm Rest

Strap Basket Support
Bracket, Power Cord Holder
Wire Asm, Battery

Handle Back Plate

Platform, Black

Fork Weldment RD Platform
Bracket, Basket Support
Basket Support Asm

Mat, Standard

Boot, Lower Handle

Spacer, .63 OD .31 ID 1.5 Lg (For Bumper Asm)

Label, Amigo Hat Section

Clip, Wire Guide
Grommet

Sign, Operation Instructions, English/Spanish

Sign, Safety, English/Spanish
Wire Asm Interface, Controller
Clip, Wire Guide

Enclosure Asm w/ Rocker Switch

Enclosure Asm w/ Rocker Switch & ETI Pot

Enclosure Asm w/ Keyswitch
AC Receptacle

Power Cord, AC Retractable
Screw, Hex Head, 5/16-18 X .5 Lg
Standard Transaxle Drive
Brake Asm, w/ Mircroswitch
Cap, Grey Wheel

Seat Spacer

Motor w/o Brake

Seat Post Asm, Upper & Lower
Washer, Lock, 5/16 OD

Arm Pad Single Molded

Arm Pad Pair Molded

Battery, 12 Volt, 33 AH (U-1)

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway .+ Bridgeport, Ml 48722-9725
Phone: (800) 248-9131 . Fax: (800) 334-7274 « www.myamigo.com

Qty/unit
1

N = N = a2 a a A

N = N B a4 A NN A A NN A A4 a a ) . a2 4 v v A v A A A A A A AW

September 2009



ROCKER/KEY

! THROTTLE
POT

[eYeJeoYe)

THROTTLE CIRCUIT BOARD

SWITCH

BLK
SIRED

10

BLU

! ORG
BLK

YEL

>
[t

BRN

(@

GRN
RED

MODULAR CONN.

SMART SHOPPER

WIRING DIAGRAM

~ TOP OF HANDLE

8 PIN
CONNECTOR

BRAKE/SEAT
SWITCH

C51108
CONTROLLER
10940XXX

BATTERY

CHARGER

MOTOR -

MOTOR +

BATTERY
12V D.C.

A%u -
RED BLK

BLK

BATTERY
12V D.C.

BLK

RED |

[CB. O

BLK

BLK

S
7

10947

BLK

SEAT SWITCH (N.C.)

ONLY

, COMMERCIAL USE
T

]

BLK

N

WHT

CHARGER

,
GRN

e

GRN
WHT

=FE O

Vi

WHT BLK

BLK

MOTOR

/’wmmm; 0

RED

RED




SMART SHOPPER
WITH SMART CHARGE

R e g BLK

e SMART CHARGER
CHARGE =
| ROCKER/KEY | ﬁ\
! L1 e ———— LU
_ il D000 BLK _ BLK
! n ! BATTERY
I ! 12V D.C. WM@AW&
EIE- St R
| == | T -
_ BLK =< _ mm RED BLK @
= | BLK RED
“ & o |
O
MODULAR CONN. _ Bk
o T 1 o
()
[n.g

JOP OF HANDLE

[ CB. ]
z =
8 PIN
CONNECTOR D 7 w_l—A 1
== 10947 A oLk "
HE \N\ BLK 7 o o 7
switen [ — BLK SEAT SWTCH (N.C.)
HE | COMMERCIAL USE [
== _, __ mmm T ONLY |
CS1108 E= Vi 7 7
CONTROLLER - Lk — - |
10940XXX |__| : ~ED
BATTERY _ I
— Gl A MOTOR £9
CHARGER [ I K|CHARGER W TumeW E I
,_ ] WHT BLK
WHT
waras - | Y BLK RED
— /l 7852.10
MOTOR + m mmo




	0082375 - 0085000
	Smart Shopper Wiring Diagram July 2005 - August 2007
	Smart Shopper Wiring Diagram w Smart Charge December 2006 - August 2007


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 450
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 465
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50108
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


